Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)

Syslem:} R:LF151872A5N:3 . Plapr = (L =L ) [ w-L¥y)
Buntton: hy = 101/360h*y = 2761360 o” — v _ iy . [ty — oy |
b*a=b* —b*N = *japr [b*w ~b*N ]

Helligkeit L*T Crapa=[as +br ] M

Y
A

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: R_LRS25_Z46N_NO Plapr = (L =L ) [ w-L¥y)
Buntton: h*y = 100/360;h*, = 300/360

atg=ar —aty ~ e [atw @]

b*a=b* ~b*y = japr [b*w " b*y]
+ —rgr 2 2,12

Helligkeit L* x Crapa=[a%a’ +b*3’]




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: R_LRS25_Z47N_N4 Plapr = (L =L ) [ w-L¥y)
Buntton: h*y = 100/360;h*, = 297/360

atg=ar —aty ~ e [atw @]
b*=b* —b*y - |'\;n’ [b*w —b*y]

. _rar 2
Helligkeit ﬂf Crapa=[a%’ +b%’]

12




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: R_LRS24_Z48N_N5 Plapr = (L =L ) [ w-L¥y)
Buntton: h*y = 100/360;h*, = 297/360

arg=ar —afy =~y [atw —aty ]

b*a =b* = b*y = *japr [D*w " b*y ]
+ —rgr 2 2,12

Helligkeit L* ‘[ Crapa=[a%’ +b%’]

Y




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: R_LRS16_Z45F 3 Plapr = (L =L ) [ w-L¥y)
Buntton: h*y = 99/360;h*\, = 280/360

atg=ar —aty ~ e [atw @]

b*a=b* —b*y = japr [b*w " b*y]
+ —rgr 2 2,12

Helligkeit L*T Craba=[a%” +b%’]




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: R_LRS24_Z46F_NO Plapr = (L =L ) [ w-L¥y)
Buntton: h*y = 99/360;h*\, = 303/360

atg=ar —aty ~ e [atw @]

b*a=b* —b*y = japr [b*w " b*y]
+ —rgr 2 2,12

Helligkeit L*T Craba=[a%” +b%’]




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)

Zyslem:} R:LI?_SZLZA?EJ\I_A Plapr = (L =L ) [ w-L¥y)
untion: iy = 99/360/1*y = 2991360 u_ e _axy e e [ty ~ 'y ]

b*a=b* —b*N = *japr [b*w ~b*N ]

Helligkeit L*T Crapa=[as +br ] M

A

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)

Zyslem:} R:LR_SZLZA.SEJ\I_S Plapr = (L =L ) [ w-L¥y)
untion: iy = 99/360/1*y = 2991360 u_ e _axy e e [ty ~ 'y ]

b*a=b* —b*N = *japr [b*w ~b*N ]

Helligkeit L*T Crapa=[as +br ] M

Y
A

4

Buntheit C*ap o




